(981 = anjeA) lewyouag AOUDIOIJOId =

21003 1N) S183\ parenb3-yy| ay} papasodxa 10 1N

(%£9) L9 193 10N sa0(
(%€€) 0€ s199N

%EE

(>jewyouag 19w %)
Aouaiolyold

ALISNId0dd A8 HLMOYO MOHS

(%¥¥) O 399N 10N s@0Q@
(%95) LS :s199W

suonoaloid

(%91) GL:mo07 (%91) §1L:mo07
(%89) 29 :pa10adx3 (%59) 65 :2beIaAY
(%S1) v1:ybiH (%61) £1:yb1H
(9215 1094)3) (91008 1UBWBABIYOY aHsodwo))
YIMOJI9 Alsuadoid

L6

(uno))
SluspnlsS

(081 '00L) = ebelaAY @

514" cel

(81008 juBwWBABIYdY B)Isodw o)) Aysuadoid

9L 00k ¥8 89

cs
ovl

oGt

09}

0Lt

08l

11eyd ymmou9 1z0z-020z buipeay 4y buuds | spelg

06}

00¢

(0] %4

0c¢e

0ge

1202-0202 buipeay dy buuds | epein




